B SEERER AR

K FH - KA ERFZER

TR 265108 13H

205307 IHTE

7KL

FABEE KA

HEIKAL (B DH)

R K i1

(T A B fERRIK L

EHERKEL

A4

BAR%

Hh 4

THED
KL

HKT

FAETERFR

ITABZ R IER

TABEIRIEER

S

KB R (ZEfR)

KA
R

BED
RERIER

Sm

KE)I

i

AER
5 BT
HEAR

i B+ K
E =T

1.87

7KL

1.60

1.80

2.70

LAJL

IKAL B ZI

19:40

20:10

IR T B2l

7K B R #3548 7K 452(18:30)

%A BEEE K A2(19:40)

RS HI| T /K 422(20:10)

Jm

i

Lt

sth EHET
ki

EEITK
E=ET

2.23

7KL

1.75

1.95

3.17

2097

IKAGL BB 2

19:30

19:40

KGR FEEZI

7K B A #5548 7K 452(19:00)

IFABEE KGI(19:30)

B S 41| BT K 152(19:40)

EE)

HE

mEm
BT
S

REN L
MBI

3.1

7KL

4.00

4.80

6.94

LAJL

IKAL B ZI

IR T B2l

7K B R #F4 K 452 (19:10)

Jm

b4l

5

IR B 75
LAl

I B £ K
E=ET

10.36

7KL

10.20

10.60

11.20

2097

IKAGL BB 2

20:20

KGR FEEZI

7K B R #5548 7K 152(19:40)

1% A B EE KL(20:20)

Sm

HE

[L#E

KiEmH
Mok op=1:)
Wt

KiEL K
E T

1.79
(20:20)

7KL

2.40

3.30

3.59

LU

IKAGL B ZI

IR T2

7K B #3548 7K 452(19:50)

FERII

FER

W
INE

I B+ K
E =T

1.07

7KL

1.50

1.70

2.20

LAIL

IKAL BB 7

IKGLAE TR EFZI

7K B B #3548 7K 432(20:00)

Sm

s

IBHE

KiEmH
FREAT
niz

KiEL K
E T

434

7KL

5.10

5.60

6.60

LU

IKAGL B ZI

IR T B2

7K B #3548 7K £52(20:30)

7KL

LAIL

IKAL BB 7

IKGLAE TR EFZI

7KL

LU

IKAGL B ZI

IR TR ZI

7KL

LAIL

IKGL BB 2

IKGLAE T EFZI

KL

LAIL

IKAGL BB Z

IR TR ZI

7KL

LAIL

IKGL BB 2

IKGLAE T EFZI

KL

LAIL

IKAGL BB ZI

IR TR ZI

7KL

LAIL

IKAL B ZI

IKGLAE T EFZI

7KL

LAJL

IKAL B ZI

IKGLAE T EFZI

XA IR EREREAR

( soksam

)

AERENE | (LLE) \ 4

1A BfERIRE
1A BBRER

(LAJL1)

(LA)L4)

(LRIL3)

I
(LRL2) \

IAERE

|
VRS K

___________ Lo
7777777777777 ey T

\
7}<K}i%‘§ﬁ($§ﬂ)@j‘> ,,,,,, N
(E-EBEMO# )

VB KL

VKR E K A

(keamsmm

)

<«

FABERTR
(B IR G 2L (RER)

K E R (EH)




